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fiche N7 a i Quel nombre correspond a la décomposition ? X
@ 0 o b e T N T e e u
g A 1 1300+40+6 7 100+100+10+10+10+10+10+1+1+1 a‘
)
6$ 2 |600+70+2 8 100+100+100+10+10+10+10+10+10+1+1+1+1+1
(g |
3 200+2 9 |100+100+100+100+100+100+10+10+10+1+1+1+1+1+1+1+1
00
O 4 | 100+50 10 | 100+100+100+100+100+100+100+100+10+10+10+10+10+10
h 5 H 1800+80+3 11 100+100+100+100+100+100+100+100+1+1+1+1+1+1
9 6 | 400+60+7 12
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fiche N2 b d Quel nombre correspond a la décomposition ? N o
@ P ) oo v TTTTTTTTT "-'“'“““'““““““““““'I 3 ‘
‘ 1 3 000+500+40+6 7 | 1000+1 000+100+100+100+10+10+10+10+10+1+1+1 ;
v

6$ 2 | (4x1 000)+(2x100)+(7x10)+(2x1) | | 8 1 000+100+100+10+10+10+10+10+10+1+1+1+1+1 E
3 (9x1 000)+(2x10)+(2x1) 9 |1000+1 000+1 000+1 000+10+10+10+1+1+1+1+1+1+1+1 &
Oo ¢

\ o 4 | 6000+800+50+9 10 |1 000+1 000+1 000+1 000+1 000+10+10+10+10+10+10+1
— .

h g 5 (7x1 000)+(8x100)+(3x1) 11| 1000+1 000+1 000+1 000+1 000+1 000+100+100+100+100+1
F i
Q 6 6000+5 12 | 1 000+1 000+1 000+1 000+100+100+100+100+100+100+10
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